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HRX 39514 86,272 41,182 45,090
RIRET1T 6 15 9 6
RIRET2T 27 56 27 29
AIEET3T 180 589 287 302
RIRET4T 416 994 495 499
B 629 1,654 818 836
REH 2,688 6,080 2,832 3,248
L&A 4,316 9,474 4,430 5,044
BE 2,604 5,969 2,896 3,073
B AN 1,242 2,781 1,302 1,479
BERT 1,379 2,000 955 1,045
BER2T 777 1,413 687 726
BHERST 372 801 372 429
g 2,528 4214 2,014 2,200
BARE 276 656 324 332
= 2,205 5,075 2,403 2,672
hERE 638 1,437 664 773
e 2,481 5,207 2,516 2,691
25 L ET 2,299 5,083 2,440 2,643
B &AL BT 78 155 62 93
HEFILET1T 564 1,203 560 643
HEFILET2T 624 1,337 628 709
HEZFILAT3T 638 1,455 719 736
g 1,904 4,150 1,969 2,181
B & it B Fr ET 690 1,596 777 819
BHERERET1T 588 1,217 589 628
HEFRET2T 768 1,725 826 899
HEFMRETST 773 1,612 730 882
HERERET4T 507 966 453 513
HEHFMHETST 840 1,724 818 906
HEHFHET6T 892 1,951 949 1,002
HEFRET7T 863 1,822 902 920
HERERETST 68 209 101 108
£t| 5299 11226 5,368 5,858
HEF R FET 1,924 4,076 2,005 2,071
S|EFET1T 591 1,542 775 767
S|EFET2T 769 1,753 833 920
S|EFET3 T 762 1,456 669 787
g 2,122 4,751 2,277 2,474
ERE1T 586 1,371 664 707
EZET2T 393 1,043 524 519
EREIST 506 1,331 646 685
EZETAT 687 1,486 662 824
EIZEIST 537 1,092 568 524
B 2,709 6,323 3,064 3,259
MEH 2,848 6,310 2,989 3,321
J\THET1T 33 34 14 20
J\THET2T 27 60 30 30
J\THEI3T 52 116 50 66
B 112 210 94 116
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